531

o THERR L X 9

180°
r 0 / /=r0
r ] S s=Lr2g 5=ty
2 2
sin@
cos@
tan@
tang: S|_n€
cos@
sin?0+cos® 0 = 1
2 1
1+tan“ 0 = >
cos~ 0
. 2
y =sinké a y = coské@
=tank@ z
y k
sin(a + B) = sina cosf +cosasin B
sinfa—p) = sina cosf—cosa sin B
cos(a + ) = cosacosf—sinasing
cos(a - f) = cosa cosf+sinasin 8
tan( + ) = tana +tan g
l-tanatan g
tan( - B) = tana —tan g
l+tanatanf
sin(@+2nr) = sin(0+2nz)=sing
cos(0+2n7) = cos(6 + 2nr ) = cosd
tan(6+nr) = tan(6+nr) =tano
sin(-0) = sin(-0)=-sing
cos(-0) = cos(-6) = cosd
tan(-6) = tan(-6)=—tano
sin(f+r)= sin(@+x)=-sing
cos(0+r)= cos(6 + ) = —cosd
tan(0+7)= tan(0+7)=tand
sin ¢9+£ = sin ¢9+£ = cosé
2 2
cos(9+£J: cos(0+£J:—sm¢9
2 2
T T 1
tan| 0+— | = tan| 0+— |=——
2 2 tan®@




